= D —
N e T X
® 7H23H (k) [SH A R
FE Al B 1RES B2REH B 3IREH BHARES
10:30 48+ 1-1 ~8 |%B+ n-1~8 |B+ m-1~2 |B+ V-1
T m-3 ~ 12 [&+ V-2 ~ 11
13:00 —
5X8= 40 A |5%x8= 40 A [FX2+3X10= 40 A |5X1+3X10= 35 HAAH
13:10— LR m—9
13:30 — B3R II— 10
® 7H24H (K) (PN
g Al B 1RES B2REH B 3IREH BARES
10:30 o B 150k gk 1 ~ 12 |3 160ke#k 1 ~ 10 |5 T66keik 1 ~4 |Z&T48ke#k 1~5
B 1-55kg ik 1~ 12 (10i4A) B F73ketk 1 ~2 (5 H)
(2434 |5 760kgifk 11 ~ 18 (68 E) | F48kgik 6 ~ 13
B 750kl 13 ~ 20 [ F81kgfk 1 ~5 |FBT66keil 5 ~ 12 |4 ¥-5Tkghk 1 ~7
B 7-55kgik 13 ~ 20 £ F52kgfk 1 ~5 |BF73ke#k 3 ~ 10 | % ¥-63kghk 1 ~2
(16584 (18R A) & F40kgik 1 1 T0kgifk 1 ~2
(1734) (19884)
11:30 ¥ 2 P e 2 PR e 2 PR e 2 PR
B 750kefk 21 ~ 24 | 760kgfk 19 ~ 22 | % F-66kghk 13 ~ 16 | & T-48kghk 14 ~ 17
H 7-55kaifk 21 ~ 24 | B 181kgH 6 ~9 |BF73kegtk 11 ~ 14 | & ¥57kghk 8 ~ 11
BFA) & F44kgifk 1 ~4 [B+90keHk 1 ~3 |Z&+63kefk 3~6
4 1-52kgifk 6 ~9 |BT190Bkegtk 1 ~4 |&TT0kgHk 3~ 4
(16885 & 1-40kgifk 2 ~5 |&LTFT0kgtBfk 1 ~4
(19884) (183 4A)
12:30 (| YELR S HER IS HER IS HER IS
B 750kefk 25 ~ 26 |8 F60kgfk 23 ~ 24 |48 F-66kefk 17 ~ 18 | & T-48kghk 18 ~ 19
H 7-55kaifk 25 ~ 26 | F81kgfk 10 ~ 11 |58 F73kghk 15 ~ 16 | & F57kghk 12 ~ 13
45) & F44kgtk 5~ 6 |BF90kghk 4 ~5 |&+63kegtk 7~8
452k ik 10 ~ 11 |B+90#8keg#k 5 ~6 |Z+70kgik 5~6
(8FAA) |& F40kgifk 6 ~7 |&LFT0kgiBH 5 ~6
(1084 (10844
&35 288 &35 2#E) &35 2#E) &35 2#E)
13:30 — T 3 LI EER
T TR (40kghk~) |Zc T 7 BERR (40kgik~)
BT 8Bk (50kghk~) |H T 8k (50kghk~)




